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T 3397 :

HET1TIEGT 39T 1 S8 TIaeH] & 91T 3R 377 G&d] & i Hilag
() 3T ¥7-97 4 38 797 & | @4 37 sifdard & |

(ii) I8 ¥o7-97 gl @S] 4 [a9ifoa & — &, @&, M, 909 & /

(i) @UE & H Y97 &I 18 18 % aglasedid (MCQ) @7 J97 G&IT 19 TF 20
STfIFHYT TS db HTERT 1 37 & J97 & |

(iv) TUE @ T F97 G&I121 T 25 T 37ld TG-FHIT (VSA) THR & 2 371 & J97 8 |

(v) TUETH ¥97 G&IT 26 G 31 % TY-FTH1T (SA) JHR & 3 371 & J97 3 |
(vi) TUETH J97 &I 32 T 35 % H-3709 (LA) THR & 5 37h1 & 97 5 /

(vii) U &F H Y97 T&I7 36 G 38 T JHU ¢TI IERAT 4 3H] & J97 & | 4%
JHT 37eTTT H 3TaRF [dhcq 2 3761 & J97 7 1297 737 3 |

(viii) Y97-97 # GHT faeheq 757 197 791 & | JEf, @v8 @ 3 2 Yo7 H, GUS T & 2 FoI
4, @vs g %2 Jo 4 a9 GV & & 3 Yl H FaRk® lahcy F Jaeg 1791 T

g1
(ix) & STTvIH &1 T HIadl G975T | T8l avqH & 1 = % g, afe s=rer

7 1ea1 T &1 |
(x)  @FoPpick & I9IIT afcdd & |

Qvug <h

39 @I H Fglasheqid F97 (MCQ) &, 577 Jc3e J97 1 37 &7 & | 20x1=20

1. fouma sl x2 - 25 = 01/% 1 B/ :
A) 5 (B) -5,5
C) 25 (D) -25,25

2. IfC2800= 2Xx5Yx 7%, d@l (x+y) S AF & :
(A) 5 B 4
C) 8 D) 6
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take 1 = - wherever required, if not
stated.

Use of calculator is not allowed.

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each.  20x1=20

The root(s) of the quadratic equation x2 — 25 = 0 is/are :
(A) 5 (B) -5,5
(C) 25 (D) —-25,25

If 2800 = 2X x 5Y x 7, then the value of (x +y) is :
(A 5 B 4
) 8 (D) 6

14-430/4/2 P.T.O.
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3. &S amfa A, e AABC ~A QPR 2, dl x 1 AH 2 :

A 6 cm C .
I
S
&
\/ ﬁx
B Q P
(A 53cm (B) 46 cm
(C) 23cm (D) 4cm

4. @ TE AWM H, g O A Th g W a1 g P ¥ T ToRi-i@1 PAS 2 |
Jfe L AOP=70°%, d ~ APO I H¥ 7 :

(A 70° (B) 90°

C) 110° (D) 20°

5.  Teuma sgugl, foFeh s -1 3R 3 &, 6 @ 7

@4 1 (B) 2
€ 3 (D) 3% e

6. I I Th AT AR AGl H H FRET Tk o6 = 1 TAh &F healdl g
(A) T M (B) U reorgs

(C) UHh JaEs (D) Th e
14-430/4/2
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3. In the given figure, if A ABC ~ A QPR, then the value of x is :

6 cm
A C R
g
[\
&
&) ﬁx
B Q g

(A) 53cm (B) 46 cm
(C) 23cm (D) 4cm
4, In the given figure, PA is a tangent from an external point P to a circle

with centre O. If £ AOP = 70°, then the measure of ~ APO is :

(A 70° (B) 90°
(C) 110° (D)  20°
5. The number of quadratic polynomials having zeroes —1 and 3 is:
A 1 B 2
<) 3 (D) more than 3
6. The region between a chord and either of the two arcs of a circle is called :
(A) anarc (B)  asector
(C) asegment (D) a semicircle

14-430/4/2 P.T.O.
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7.  Torelt ga 1 axiE 9% W Bt @ S g9 Wl eR St B

(A) A Th &l fag W (B) T fogai @
(C) M fargati @ (D) 3Hd Torgatt W
8. famfafga 9ea s St & 50 gfien! i eHes 1 <30T = -

I (T H) 400 — 424 | 425 — 449 | 450 — 474 | 475 — 499 | 500 — 524
sfHeht Sl T&A 12 14 8 6 10

g o shl et € e

(A) 425 (B) 449

(C) 4245 (D) 4255

9. W%Wﬁg‘iﬁ'{,q—% 323—319=32%,%:

A 8 B -8
Cc) -4 D) 4

10. r TS % T g |, i o (feift #) act Bsues 1 89w &

AW 2 wom B) 2 2
180 180

(©) i X 2mr (D) i X 2mrl
360 720

11.  fogali A4, x) 3R B(-2, 4) ® W o @1 @e AB &1 #ea-fog Afg
C(1,-D®, @ x 1 74 & :

(A 5 B) -5
(C) 6 D) -6
12. ( lzj—( lzjw%:
cot® 0 cos” 0
A 1 B) -1
C) 0 (D) sec?6

14-430/4/2
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7. A tangent to a circle is a line that touches the circle at :
(A) one point only (B)  two points
(C) three points (D) infinite number of points
8. The following distribution gives the daily income of 50 workers of a
factory :
Income (in T) 400 — 424 | 425 — 449 | 450 — 474 | 475 — 499| 500 — 524
Number of workers 12 14 8 6 10
The lower limit of the modal class is :
(A) 425 (B) 449
(C) 4245 (D) 4255
9. The common difference of an A.P., if agq—a9 =32, is:
A) 8 B) -8
Cc) -4 D) 4
10. Area of a sector of angle 0 (in degrees) of a circle with radius r is :
@A) -2 xon B) —— xnr?
180 180
(©) 9 X 27r (D) Y X 2mr2
360 720
11. If C(1, -1) is the mid-point of the line segment AB joining points A(4, x)
and B(- 2, 4), then value of x is :
(A 5 B) -5
C) 6 D) -6
1 1
12. — is equal to :
(cot2 GJ (COS2 9)
A 1 B -1
() (D) sec?0
14-430/4/2 P.T.O.
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af2 Tk e B TR B, 1 29 e qTeh ST <hl STRIShdl T & ?

13.
(A) 1-p B) p-1
© p o
p
14, x-FHH fog (4,5 gl 7 :
(A) 5 B 4
<) 9 D) 1
15. T=fafad & § sH-a1 fgama gt 7g7 8 2
A (x-22+1=2x-3
(B) 2x-1)x-3)=xx+5H)x-1)
C) x(x+1)+8=x+2)x®-2)
D) 2x+3 =5
X
16. e fgumd 5898 kx®+4x+k 1 Uh 6 18, A kHI AF @
A 2 B -2
C) 4 D) -4
17. Tafafga sEmar s =1 megs 91 2
col 0-10[10-20|20—-30|30—40|40—-50|50—60
gRERAT | 5 8 20 15 7 5
(A)  10-20 (B) 20-30
(C) 30-—40 (D) 40 -50
18. 9m > fooell % @H &l FHH W 33 m T AT | 39 999 W G H1
?FﬂTSI%
(A) 60° (B) 90°
(C) 45° (D) 30°
14-430/4/2
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13. If the probability of an event is ‘p’, what is the probability of its
complementary event ?
(A) 1-p B) p-1
1
C) p D)y =
p
14. The distance of the point (4, 5) from x-axis is :
A 5 B) 4
()] (D) 1
15. Which of the following is not a quadratic equation ?
A) (x-22+1=2x-3
B) 2x-1)xx-3)=x+5)x-1)
C) xx+1)+8=x+2)x-2)
D) 2x+32=5
X
16. If one zero of a quadratic polynomial kx2 + 4x + k is 1, then the value of
kis:
A) 2 B) -2
) 4 D) -4
17. The median group in the following frequency distribution is :
Class 0-10 | 10-20|20-30 | 30—-40 | 40-50 | 50-60
Frequency 5 8 20 15 7 5
(A) 10-20 (B) 20-30
(C) 30-40 (D) 40-50
18. A lamp post 9 m high casts a shadow 3v3 m long on the ground. The
Sun’s elevation at this moment is :
(A) 60° (B) 90°
(C) 45° (D) 30°
14-430/4/2
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J97 G&IT 19 37K 20 YFHIT U a& SEIRT 97 & | @ %97 1e¢ 78 & 574 vk &)
SIYHIT (A) T TR B 7% (R) GRT 37/ 1971 797 & | 37 J971 & &1 I 14 157
77 F181 (A), (B), (C) 3% (D) & & g7 7 |
(A) AR (A) 3R Th (R) THI H&l & TR @b (R), AR (A) i Tl
ST LT 2 |
(B) AW (A) 3R Tk (R) QHI F&! 8, T o (R), TR (A) T F&l
T TFT Ll 3 |
(C) 3fyhed (A) TS 8, W dh (R) TTeTd & |
(D)  37HA (A) TId B, T ek (R) T 7 |

19. 3YFYT(A): TH UTHT %ol T, TEAT 8 YT & hl JTRIhaT I (0) B |

7% (R) : Teh TEYT HeAT hl JTRIehdl I (0) Bl 7 |
20. BT (A): Iah AR JH 5x + 2y + 6 =03 7x + 6y + 18 =0
IR 9 & 3 BA © |
% (R) : ger iRt I a;x + byy + ¢ = 0 3 agx + byy + co = 0
¥ orafifid ®7 & oFk g B, Afe AP _a 3
ag by ¢
QuE @
37 GUE T 37la TG-IRI% (VSA) FHR & J97 &, o8 I3 & 2 37 5 | 5x2=10
21. (a) < TE R H, PQ || RS | fiag T 6 OP x OR = 0Q x OS.
R
P
O
Q
S
JrqET

14-430/4/2 Page 10
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Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The probability of getting number 8 on rolling a die is
zero (0).

Reason (R): The probability of an impossible event is zero (0).

20. Assertion (A) : The pair of linear equations 5x +2y+ 6 =0 and
7x + 6y + 18 = 0 have infinitely many solutions.

Reason (R):  The pair of linear equations a;x+b;y+c;=0 and
a9X + byy + €9 = 0 have infinitely many solutions, if
2 _b_a
ag by cg
SECTION B
This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10
21. (a) In the given figure, PQ || RS. Prove that OP x OR = 0Q x OS.
R
P
@)
Q
S
OR

14-430/4/2 Page 11 P.T.O.
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(b) & T smhy ¥, LM || CB 3 LN || CD 2 | firg iftm fip 2M _AB

AN AD’
B
M
I,
ak C
N
D

22. ¥ G hiNW ;

sin 30° cos 60° + cos 30° sin 60° — cot 45°

23. YT UHEE Tl g, 45, 54, 270 %1 HCF 1A i |

24, el 99 % =™ AB % R W &1 i@ XY IR PQ @i T & | &g
sife 6 XY || PQ ® |

25. (a) aﬁagcra8x2+14x+3éswa,5§,a‘r(1+%me=rsna
ST |

AT

(b) T fgaTd ague FTa hig oTEeh 6 —9 3R 6 2 |

QuE
39 GUE § TY-FHIT (SA) FHR & F97 &, 578 Jcd4% & 3 3% & | 6x3=18
26. fag Fifow fos -
(cosec A — cot A)2 = w
1+cos A

27. = HINT foh w1 fRel Thd F&AT n % AT, F&AT 42 3 0 W F9 &l
Hohdl & | 379 3T o ToIu sRor &f9T |

14-430/4/2 Page 12
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(b)  In the given figure, LM || CB and LN || CD. Prove that AM _AB
AN AD
B

M

L
A C

N

D

22, Evaluate:
sin 30° cos 60° + cos 30° sin 60° — cot 45°

23. Find the HCF of 45, 54, 270 using prime factorization method.
24, XY and PQ are two tangents drawn at the end points of the diameter AB
of a circle. Prove that XY || PQ.

25. (a) If a, B are zeroes of the polynomial 8x2 + 14x + 3, then find the
1 1
value of (— -+ EJ

(0

OR

(b)  Find a quadratic polynomial whose zeroes are —9 and 6.

SECTION C
This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18
26. Prove that:
(cosec A — cot A)2 = 1-cosA
1+cos A

27. Check whether the number 4™ can end with digit 0 for any natural
number n. Give reasons for your answer.

14-430/4/2 Page 13 P.T.O.



28.

29.

30.

31.

[=1 4308

o

e
dTe o 52 Ul i ITTB! WG ° el g Teh TGS § Teh Il ATGoDAT {ehrel]
ST 8 | TRiehar 3a shifte foh fepte o ww

(i) A TT I FEIME 2 |

(i) BTt T 1 T T 7 |

(iii) 9 T 3FH @ |

10 cm T390 9160 T 99 H I G JA % g W Uk GHKIU AN
A 7 | @ (1) 7Y BeuEs (i) 6 Boues % gEwa 9| hiNg |
(n = 8-14 %1 Fa hifTe)

(a)  Tgomet = 1 SN ek, THIHWT 2x2 + 2x + 9 = 0 < AATID oA, AQ
39ehT 3fEdca B, 1 T |

AT

(b) K% 9 WH Ad T ek Tog fgard aflemon kx2 — 2kx + 6 = 0
qrEdfaeh 3R §9H 09 & | I8 g o F1d HiT |

(a) Tag HIVT fh g9 o 9@ o9 IqHS % JIHA-HEA I ¢ g9

g U HYLh 10T AN Lt & |

AYAT

(b) e Tk g9 H Hg O, a1 PQ M P W Tt T weik@r PR, Sfar
PQ ¥ 40° T IV ST &, A1 ~ POQ <hT HTY JTd hilolT |

14-430/4/2 Page 14
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30.

31.
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One card is drawn at random from a well-shuffled deck of 52 playing
cards. Find the probability that the card drawn is :

i) a red king.
(i1) not a black card.

(111) an ace of hearts.

A chord of a circle of radius 10 cm subtends a right angle at the centre of
the circle. Find the area of the corresponding (i) minor sector (ii) major
sector. (Use n = 3-14)

(a) Using quadratic formula, find the real roots of the equation
2x2 + 2x + 9 = 0, if they exist.

OR

(b) Find the values of ‘K> for which the quadratic equation
kx? — 2kx + 6 = 0 has real and equal roots. Also, find the roots.

(a)  Prove that opposite sides of a quadrilateral circumscribing a circle

subtends supplementary angles at the centre of the circle.

OR

(b)  If O is the centre of a circle, PQ is a chord and the tangent PR at P
makes an angle of 40° with PQ, then find the measure of ~ POQ.

P R

A

Q

L
Cad



59 @V 4 FH-3RIT (LA) IPR & 37 &, 573 Je3% &5 3% & |

[=1 4308

Ry
Qs v

32. 9 T fo9g PH, T 15 m So I o RIGK I 374 B0 30° 7 | WA
et W T wa S AT T B AW P U tavieg o @ Sl ITIF HI0T 45°

8 | TGS 1 TeTs 3R forg P o Wad <l gl 1d hiT |
(V3 = 1-732 =1 TN Hifs)

33. U GHIE ] 1 GHU UG 29 3TN EHT A1 UG 517 | TG 9T 3AfaH 15 425
7, a1 1a ShifvT foh 39 G0t 9l § $t fohad 9 8 31 37 aft ugi 1 Jed
g |

34. (a)

(b)
35. (a)

(b)
14-430/4/2

3 oA, TS0 8 T 1 A 125 cm3 B, & G belohl il [Tt
@1 ST g | I 9114 oh1 TR TR IS &%hal J1d ehivg |
YA

Teh 3 Teh LGl W ALIRUT Teh WP b AR Hl & E@H GHI
S 7 cm % SR 7 3R 9 il SHa1g 3Tl B & s 2 | 39 H
HFA F1d HIT |

Ife BD 3R QM sue: 35S ABC 3R PQR i mifesestd ¥, et

AB BD
A ABC ~ A PQR &%, q fag hifse fo PQ oM

AT
CD 3R GH %": £ ACB 3R £ EGF % UH HuigWSi 8 feh fag D
3T H A A ABC 3R A FEG <1 3o1sTi AB @91 FE W feoa 3 | =fg
AABC ~ AFEG g, a1 g31isq 76 :
€D _AC
GH FG
(ii) ADCB~ AHGE

Page 16
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SECTION D

This section comprises Long Answer (LA) type questions of 5 marks each. 4x5=20

32. From a point P on the ground, the angle of elevation of the top of a 15 m
tall building is 30°. A flag is hoisted at the top of the building and the
angle of elevation of the top of the flagstaff from P is 45°. Find the length
of the flagstaff and the distance of the building from the point P.
(Use /3 =1-732)

33. The second term of an A.P. is 29 and the fourth term is 51. If the last
term of the A.P. is 425, find how many terms are there and what is their

sum.

34. (a)

(b)

35. (a)

(b)

14-430/4/2

Two cubes each of volume 125 cm? are joined end to end. Find the

volume and the surface area of the resulting cuboid.

OR

A solid is in the shape of a cone surmounted on a hemisphere with
both their diameters being equal to 7 cm and the height of the cone

is equal to its radius. Find the volume of the solid.

If BD and QM are medians of triangles ABC and PQR,

respectively, where A ABC ~ A PQR, prove that AB _BD

PQ QM

OR

CD and GH are respectively the bisectors of © ACB and £ EGF
such that D and H lie on sides AB and FE of A ABC and A FEG
respectively. If A ABC ~ A FEG, show that :

CD AC

O GH Fq

(i1) A DCB ~ A HGE

Page 17 P.T.O.
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59 GUS 4 3 YU S7eTTT TENIRT 97 & 578 Jedeh & 4 375 & | Ixd=12
TERIOT AT - 1
36. Tegl & Tomiet WTsd & ATEE SeATvr 9 (RWA) 5 HidTge! & i ureh |
I fooieft & @ A, B3R C @MT 8 | 39 <9 @HI o 916G, TTh o 36 66
e off 3fER 4 ¥ | 39Ty, RWA 7 9Tsh | Ueh 3R foiielt &1 @1 D & i
% T | Uk ol e @ 8 fese yumell % &9 ° d9n foRan S Eehan
g |

T AN
1 1
7+ Y
41 HH
> X

14-430/4/2 Page 18
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SECTION E

This section comprises 3 case study based questions of 4 marks each. 3Ix4=12

Case Study -1

36. Resident Welfare Association (RWA) of Gulmohar Society in Delhi, have
installed three electric poles A, B and C in the society’s common park.
Despite these three poles, some parts of the park are still in the dark. So,
RWA decides to have one more electric pole D in the park. The park can
be modelled as a coordinate system given below.

14-430/4/2 Page 19 P.T.O.
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[=]:exd
3T A & TR W, frfefaa gei & 3w A

(i) @H CH WHE RT3 ? 1
(i) 9k % HH O W @H B gl Fohart 2 2 1
(i) (a) =Y @H D I TIM F HIC 588 91 fog A, B, C 3R D TH
TATR Ig4sl ABCD &9T¢ | 2
YT
(b) @H AR C " i gl [ HT | 2

TR0 T — 2
37. TouTeRt 4 Ta 1 T 6l g W 3 AREH N 2 U9 T 80 H Wl 3N 3k
o gt 9 4 ArReg® 3R 3T T 110 H§ @l |

ECe—— )

_—

3T S & TR W, fafefgd st & 3w i
(i) 9f¢ T Aege I oI T X 3R Th U9 &I Ied T y &, al of 15 el

! SemuR e €9 # fafay |
(i) (a) T A Dl oI R g ? 2
AYAT
(b) T U I U AT 8 ? 2
(iii) §I® A 6 AT R 3 U Gl &, A 39 o fohadl URT @ HE
gl ? 1

14-430/4/2 Page 20
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On the basis of the above information, answer the following questions :
) What is the position of the pole C ?
(i1)  What is the distance of the pole B from the corner O of the park ?

(iii)) (a)  Find the position of the fourth pole D so that the four points
A, B, C and D form a parallelogram ABCD.

OR
(b)  Find the distance between poles A and C.

Case Study - 2

Deepankar bought 3 notebooks and 2 pens for ¥ 80 and his friend
Suryansh bought 4 notebooks and 3 pens for ¥ 110 from the school

bookshop.

-Juhl—; _J_._J __!

| \’f

Based on the above information, answer the following questions.

(1) If the price of one notebook be ¥ x and the price of one pen be ¥ y,
write the given situation algebraically.

(i1) (a) What is the price of one notebook ?

OR
(b)  What is the price of one pen ?

(iii) What is the total amount to be paid by Suryansh, if he purchases
6 notebooks and 3 pens ?

N

14-430/4/2 Page 21 P.T.O.
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Th0T 3TEFIT - 3

38. TIIA B : WG e Th YHR I o¥1 HIEAH B §I Tieh, Sirg AT 37T
wfaufaat & faw w@ & fow w8 Faweh @ 301 T a1 B | WY B8
U T AASR g GETierd Bid &, St %S ohl yiEdfa oAefed id 2 3R %e
o TereTenl o ToTT ST oW 91 3T 309d hid 1 TIE i & |

Ri\‘gi}l T
Fe !

B - = =222 2 ==L
g ufEufe gea (NAV) foreft e & gfd SR SeR geg w1 ufafafea s

2 | 98 9% <hiad g g w s fret g st 9 % 3R wlied @ 3 3%
forelt wg Ut 1 s=d 2 |
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Case Study -3

38. Mutual Fund : A mutual fund is a type of investment vehicle that pools
money from multiple investors to invest in securities like stocks, bonds or
other securities. Mutual funds are operated by professional money
managers, who allocate the fund’s assets and attempt to produce capital
gains or income for the fund’s investors.

MUTUAL
FUNDS!

===222R=CL

Net Asset Value (NAV) represents a fund’s per share market value. It is
the price at which the investors buy fund shares from a fund company
and sell them to a fund company.

The following table shows the Net Asset Value (NAV) per unit of mutual

fund of ICICI mutual funds :

NAV (in %)

0-5

5-10

10 -15

15 - 20

20-25

Number of mutual funds

13

16

22

18

11

Based on the above information, answer the following questions :

) What is the upper limit of modal class of the data ?

(11) What is the median class of the data ?
(111)) (a) What is the mode NAV of mutual funds ?

OR

(b) What is the median NAV of mutual funds ?

14-430/4/2
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination, 2024
SUBJECT NAME MATHEMATICS (BASIC) (Q.P. CODE 430/4/2)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, evaluation done and several other aspects. It’s leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc. may
invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-X, while evaluating two competency-based questions,
please try to understand given answer and even if reply is not from marking scheme
but correct competency is enumerated by the candidate, due marks should be
awarded.

The Marking scheme carries only suggested value points for the answers.

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after deliberation and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

Evaluators will mark(v" ) wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluators will not put right (v ) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.

430/4/2 1 P.T.O.




10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in
Question Paper) has to be used. Please do not hesitate to award full marks if the answer
deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e  Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark
is correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (O)Marks.

15 Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME MATHEMATICS (BASIC) 430/4/2

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each.  20xI1=20

1. The root(s) of the quadratic equation x2 — 25 = 0 is/are :

(A 5 (B) -5,5
C) 25 (D) -25,25
Answer (B) -5,5 1

2. If 2800 = 2% x 5Y x 7, then the value of (x + y) is :

(A) 5 B) 4
Cc) 8 (D) 6
Answer (D) 6 1

3. In the given figure, if A ABC ~ A QPR, then the value of x is :

A 6 cm c R
&/ |x
%
B Q P
(A) 53cm (B) 46cm
(C) 23cm (D) 4cm
Answer (C) 2:3 cm 1
4. In the given figure, PA is a tangent from an external point P to a circle
with centre O. If £~ AOP = 70°, then the measure of ~ APO is :
A
‘ y
S
B
(A 70° (B) 90°
(C) 110° (D) 20°
Answer (D) 20° 1
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5. The number of quadratic polynomials having zeroes —1 and 3 is :

A 1 B) 2
(C) 3 (D) more than 3
Answer (D) more than 3 1
6. The region between a chord and either of the two arcs of a circle is called :
(A) an are (B) a sector
(C) asegment (D) a semicircle
Answer (C) a segment 1
7. A tangent to a circle is a line that touches the circle at :
(A)  one point only (B) two points
(C) three points (D) infinite number of points
Answer (A) one point only 1
8. The following distribution gives the daily income of 50 workers of a
factory :
Income (in ) 400 — 424 | 425 — 449 | 450 — 474 | 475 — 499| 500 — 524
Number of workers 12 14 8 6 10

The lower limit of the modal class is :

(A) 425 (B) 449
(C) 4245 (D) 4255
Answer (C) 4245 1

9. The common difference of an A.P., if agg—a;q=32, is:

(A) 8 (B) -8
Cc) -4 (D) 4
Answer (A) 8 1
10.  Area of a sector of angle 0 (in degrees) of a circle with radius r is :
A) % x 2nr (B) % x nr2
© -2 om D) —— x2m?
360 720
Answer (D) —x 27r2 1
720
430/4/2



11. If C(1, —1) is the mid-point of the line segment AB joining points A(4, x)

and B(— 2, 4), then value of x is :

(A) b (B) -5

(C) 6 (D) -6
Answer (D) - 6

12. { 12 ]—( 12 }isequalto:
cot™ 0 cos™ 0

A 1 B -1

Cc o0 (D) seco
Answer (B) -1

13. If the probability of an event is ‘p’, what is the probability of its

complementary event ?

A 1-p (B)
C© p (D)

Answer (A) 1-p

14. The distance of the point (4, 5) from x-axis is :
A 5 (B) 4
(©) 9 (D) 1
Answer (A) 5

15. Which of the following is rnot a quadratic equation ?
A x-22+1=2x-3
(B) 2x-1)(x-3)=x+Hx-1)
(C) X(x+1)+8=(x+2)(x-2)

D) 2x+°> =5

X

Answer (C) x(x +1)+8 = (x+ 2) (x-2)

16. If one zero of a quadratic polynomial kx2 + 4x + k is 1, then the value of

kis:
A 2 (B) -2
(C) 4 D)y -4

Answer (B) - 2

430/4/2 5
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17. The median group in the following frequency distribution is :

Class 0-10 | 10—-20 [ 20—-30 | 30 -40 | 40-50 | 50 —-60
Frequency 5 8 20 15 7 5
(A) 10-20 (B) 20-30
(C) 30-40 (D) 40-50
Answer (B) 20 - 30 1

18. A lamp post 9 m high casts a shadow 3y3 m long on the ground. The
Sun’s elevation at this moment is :

(A)  60° B) 90°
(C) 45° (D) 30°
Answer (A) 60° 1

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The probability of getting number 8 on rolling a die is
zero (0).
Reason (R):  The probability of an impossible event is zero (0).

Answer (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A). 1

20. Assertion (A) : The pair of linear equations 5x+2y+6=0 and
7x + 6y + 18 = 0 have infinitely many solutions.

Reason (R):  The pair of linear equations a;x+byy+c¢;=0 and
aoX + boy + ¢9 = 0 have infinitely many solutions, if

21 _bi_er

ag by cg
Answer (D) Assertion (A) is false, but Reason (R) is true. 1
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SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each.

Hx2=10
21. (a) In the given figure, PQ || RS. Prove that OP x OR = 0Q x OS.
R
P
@)
Q
S
OR
(b)  In the given figure, LM || CB and LN || CD. Prove that 2L - A8
AN AD
B
M
A L iy
\N</
D

Solution: (a) In A POQ and A SOR
ZP0Q= ZSOR (vertically opposite angles)

Z0PQ= ZO0SR (alternate interior angles as PQ || SR)

.. APOQ~ASOR  (AA criteria)
or _oQ _
= 5oz O  OPxOR=0Qx0S

OR
(b) InAABC LM || CB

AM AL .
. IE_EE ______(0

In AADC, LN || CD

AN AL .
LT ac (i)

. ..y AM AN AM AB
from (i) and (ii) 50 %" N

R RS AR R

430/4/2 7
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22. Evaluate:

sin 30° cos 60° + cos 30° sin 60° — cot 45°

Solution: sin 30° cos 60° + cos 30° sin 60° - cot 45°
=1 X 1 + E % E - 1
2 2 2 2

23. Find the HCF of 45, 54, 270 using prime factorization method.

Solution: 45 =3 x3 x5
54 =2x3x3x3
270 =2x3x3x3x5
HCF (45, 54, 270) =9

24, XY and PQ are two tangents drawn at the end points of the diameter AB
of a circle. Prove that XY || PQ.
Solution:
X A Y
(o}
P B Q

Given: XY & PQ are tangents, AB is the diameter
To prove: XY || PQ

Proof: XY L OA (Tangent is perpendicular to radius)

- £0AY =900
PQ L OB (Tangent is perpendicular to radius)
~ 20BP =90°
But £OAY and ~OBP are alternate interior angles
= XY || PQ
25. (a)

If o, p are zeroes of the polynomial 8x2 + 14x + 3, then find the
value of {l +l]
a B

OR
430/4/2
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(b)  Find a quadratic polynomial whose zeroes are —9 and 6.

Solution: (a) As a, B are zeroes of the polynomial

. — 14 L
.o+ B = = :
Ot[f = E E
L —Bptae _ 14 1,1
a + B~ ap 2+2
OR
(b) Sum ofzeroes =-3 %
Product of zeroes = - 54 %
Quadratic polynomial is : k (XZ +3x-54) or x2 +3x - 54 1
SECTION C
This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18
26. Prove that :
(cosec A — cot A)2 = w
1+cos A
Solution :LHS = (cosec A - cot A)2
1 cos A4)? 1- cos 42
= (sin A sin A) = ( sin A ) 1
_ (1-cos A)Z_ (1 - cos A)2 1
- 155?121}4 T 1-cos? A
- COS
T 14cos A RHS 1
27. Check whether the number 4" can end with digit 0 for any natural
number n. Give reasons for your answer.
Solution: 4N = (22)N = 22N, the only prime factor of 4" is 2. 1
.. By fundamental theorem of Arithmetic, there is no other prime
factorisation of 4", 1
It does not have 5 as its prime factor, hence 4" cannot end with
digit 0 for any natural number n. 1

28. One card is drawn at random from a well-shuffled deck of 52 playing
cards. Find the probability that the card drawn is :

1 a red king.
(i1)  not a black card.

(ii1) an ace of hearts.

430/4/2 9 P.T.O.



Solution: (i) P (Red king) = = or - 1
(i) P(not a black card) = g or% 1
(iii) P(ace of hearts) = é 1

29. A chord of a circle of radius 10 cm subtends a right angle at the centre of
the circle. Find the area of the corresponding (i) minor sector (ii) major
sector. (Use n = 3-14)

Solution:

20 _ 3.14x10x10x90

360° 360

314
=" c

() Area of minor sector =

m’or g cm’or 785 cm” é
(ii) Area of circle = nr2 = 3-14 x 10 x 10 = 314 cm’ 1
-.Area of major sector = 314 - 78:5 = 2355 cm? g

30. (a) Using quadratic formula, find the real roots of the equation
2x2 + 2x + 9 = 0, if they exist.
OR
(b)  Find the values of ‘K’ for which the quadratic equation

kx? — 2kx + 6 = 0 has real and equal roots. Also, find the roots.

Solution: (a) D=-68 2
since D<0, the equation does not have real roots.
OR

=

(b) kx%-2kx+6=0
Quadratic Equation has equal roots (given)

D=0=4k?2-24k =0 1
4k (k - 6) =0
= k=6 (k=0) 1

Putting k = 6 we get
6x2 - 12x +6=00rx2-2x+1 =0
> (x-12=0=>x=1 1

31. (a) Prove that opposite sides of a quadrilateral circumscribing a circle

subtends supplementary angles at the centre of the circle.
OR

430/4/2
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(b)  If O is the centre of a circle, PQ is a chord and the tangent PR at P
makes an angle of 40° with PQ, then find the measure of ~ POQ.

To Prove: « AOB + £ COD = 180° and Z BOC + £ AOD = 180°

Proof: In A AOP and A AOS

OA = OA (common)
OP = 0OS (radii)
AP = AS (tangents from an external point)
.. A AOP = A AOS (SSS criteria)
Ll1= /2

Illy, #23=./4,/5=/6and £7= /8

Now L1 +/42+/43+/44+45+/46+ £7 +2£ 8 = 360°

= 2( L1+ Z4+ /5+ £8) = 360°
S ( L1+ 2£8)+ (L 4+ £ 5)=180°
— ZAOB + / COD = 180°

I[ly, #BOC + ZAOD = 180°

OR

(b) £RPQ = 40° (given)
Z OPR = 90° (radius L tangent)
.. Z0PQ = 90° - 40° = 50°

In A POQ, OP = OQ (radii of same circle)
- Z0PQ = 2« OQP = 50° (angles opposite to equal sides)
Now, ZOPQ+ ZOQP + LZPOQ = 180°
50° + 50° + ZPOQ = 180°
ZPOQ = 80°

430/4/2 11
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This section comprises Long Answer (LA) type questions of 5 marks each. 4x5=20

32. From a point P on the ground, the angle of elevation of the top of a 15 m
tall building is 30°. A flag is hoisted at the top of the building and the
angle of elevation of the top of the flagstaff from P is 45°. Find the length
of the flagstaff and the distance of the building from the point P.
(Use v3 =1-732)

Solution:

3]

/’/
S

1 for fig.
In right A APB,
tan 300 = ﬁ = L = E 1
AP J3 AP
AP = 1543 = 25.98 m (i) 1
In right A APC,
tan 450 = 2C 1 = AC 1
AP AP
AC = AP = 2598 m  (Using (i)) :
. Height of flagstaff = BC
= 25.98 - 15 = 10.98 m :
and distance of the building from the point P = 25.98 m
33. The second term of an A.P. is 29 and the fourth term is 51. If the last
term of the A.P. is 425, find how many terms are there and what is their
sum.
Solutiona, =29 = a+d=29 () 1
a4 =51 =a+3d=51 (i)
Solving (i) and (ii)
d=11 and a=18 242
2 2
430/4/2
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Now, a, =425 = a+(n-1)d =425
18+ (n-1)11 =425=n = 38
. Number of terms = 38

Sag = %[Za + (n - 1)d]

(b)

R R

|_L
B | =

B | =

38
= S [2x18 +37 x11] -
= 8417 2
2
Two cubes each of volume 125 cm? are joined end to end. Find the
volume and the surface area of the resulting cuboid.
OR
A solid is in the shape of a cone surmounted on a hemisphere with
both their diameters being equal to 7 em and the height of the cone
is equal to its radius. Find the volume of the solid.
Solution: (a)Volume of one cube = 125 cm3
. side of the cube = 5 cm
Volume of the resulting cuboid = volume of 2 cubes = 250 cm3
. Length of new cuboid 5 + 5 =10 cm
Breadth of new cuboid = 5 cm
Height of new cuboid = 5 cm
Surface area of the resulting cuboid = 2 (/b + bh + h/)
=2(10x5+5x5+5x10)
=250 cm?
OR

(b)Radius of hemisphere = radius of cone = % cm

Height of cone = g cm
Volume of the solid = Volume of hemisphere + Volume of cone
-2 3,1 2
= E nre + E nr<h
=1X§XEXE(2XE+E)
3539 7 2 2 2 2
= cm3 or 134-75 cm3

35. (a)

430/4/2

If BD and QM are medians of triangles ABC and PQR,
respectively, where A ABC ~ A PQR, prove that AB = BD .
PQ QM
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OR
(b)  CD and GH are respectively the bisectors of ~ ACB and / EGF

such that D and H lie on sides AB and FE of A ABC and A FEG
respectively. If A ABC ~ A FEG, show that :

CD AC

@ GH Fa

(i1) A DCB ~ A HGE
Solution (a) 1 for figure

Q
/B\/\
A p C P M R

Given : A ABC ~ A PQR and BD, QM are medians

AB BD
To prove : — = —
PQ QM
Proof : A ABC ~ A PQR (given)
_AB _ AC ;
" PQ PR
= AB = 2AD (BD and QM are medians)
PQ 2PM
AB AD
= — = — 1
PQ PM
In A ABD and A PQM
AB = AD (proved above)
PQ PM
ZA =L P (A ABC ~ A PQR)
.. A ABD ~ A PQM (SAS criteria) 1
. AB _ BD (C.P.S.T.) :
PQ QM 2

OR
(b) Given: A ABC ~ A FEG and CD, GH are bisectors of Z/ ACB and £ EGF
respectively.

430/4/2
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CD AC

To Prove (i) — = —— (ii) ADCB ~ A HGE
GH FG
A —
b H
¢ < ﬁ R
£ G 1 for figure
Proof : (i) ZACB = ZFGE ( AABC ~ A FEG) g
1 1

= 5 ZACB = 5 Z FGE (CD and GH are bisectors of ZACB and £ EGF)

= /1 = /3 and Z2 = /4 %+§
In A ACD and A FGH

/ZA = ZF (AABC~ AFEG)

/1 = /3 (proved above)

— A ACD ~ A FGH (AA criteria) 1
CD AC 1
= — = — =
GH FG 2

(i) In A DCB and A HGE

/B = /ZE (AABC~ AFEG)
£2 = /4 (proved above)
.. A DCB ~ A HGE (AA criteria) 1

SECTION E

This section comprises 3 case study based questions of 4 marks each. 3x4=12

Case Study -1

36. Resident Welfare Association (RWA) of Gulmohar Society in Delhi, have
installed three electric poles A, B and C in the society’s common park.
Despite these three poles, some parts of the park are still in the dark. So,
RWA decides to have one more electric pole D in the park. The park can
be modelled as a coordinate system given below.
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On the basis of the above information, answer the following questions :
(1) What is the position of the pole C ?
(ii))  What is the distance of the pole B from the corner O of the park ?

(iii)) (a)  Find the position of the fourth pole D so that the four points
A, B, C and D form a parallelogram ABCD.

OR
(b)  Find the distance between poles A and C.

Solution: (i) Position of the pole C(5, 4)
(i)B(6, 6)

- BO = (6-0)2 + (6-0)2 =136 + 36 =720r 6v2

(iii)(a) A(2, 7), B(6, 6), C(5, 4)
Let D(X, y)
- ABCD forms a parallelogram
.. Mid-point of AC = Mid-point of BD

(2+5 ?+4—)_(6+x 6+y)
2 2 - 2 ' 2

7 6+x
- = =>x=1
2 2
Loy s
Position of the fourth pole D is (1, 5)
OR
(iii)(b) AC=\/(5-2)2 + 4-7)?2 =9 + 9

= V18 or 3v2

430/4/2
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Case Study - 2

37. Deepankar bought 3 notebooks and 2 pens for ¥ 80 and his friend
Suryansh bought 4 notebooks and 3 pens for ¥ 110 from the school
bookshop.

Based on the above information, answer the following questions.

(1) If the price of one notebook be ¥ x and the price of one pen be T y,
write the given situation algebraically.

(ii) (a) What is the price of one notebook ? 2

OR
(b)  What is the price of one pen ? 2

(i11) What is the total amount to be paid by Suryansh, if he purchases
6 notebooks and 3 pens ? 1

Solution: (i) 3x + 2y = 80 --------=-------- (1)

4x + 3y = 110 ----------------- (2)
(i) (a) Solving (1) and (2) to get x=20

Nt

OR

(b) Solving (1) and (2) to get y=10 2
(iii) Total amount paid = 6 x 20 + 3 x 10 = X 150 1

Case Study -3
38. Mutual Fund : A mutual fund is a type of investment vehicle that pools
money from multiple investors to invest in securities like stocks, bonds or
other securities. Mutual funds are operated by professional money
managers, who allocate the fund’s assets and attempt to produce capital
gains or income for the fund’s investors.

430/4/2 17 P.T.O.



MUTUAL
FUNDS!

_ Y

Net Asset Value (NAV) represents a fund’s per share market value. It is
the price at which the investors buy fund shares from a fund company
and sell them to a fund company.

The following table shows the Net Asset Value (NAV) per unit of mutual
fund of ICICI mutual funds :

NAV (in ¥) 0-5|5-10 | 10-15 | 15-20 | 20-25
Number of mutual funds 13 16 22 18 11
Based on the above information, answer the following questions :
(1) What is the upper limit of modal class of the data ? 1
(1)  What is the median class of the data ? 1
(iil) (a) What is the mode NAV of mutual funds ? 2
OR
(b)  What is the median NAV of mutual funds ? 2
Solution: (i) Upper limit of modal class = 15 1
(ii) Median class = 10 - 15 1
(iii)(@) /=10, fy =16,f; =22 ,f, =18, h=5
_ f1 — fo _ 22 - 16 1
MOde—/+th—10+(m)X5 15
=13 >
2
OR
(i) (b) | "7 (np | g
: L for tabl
0-5 | 13 | 13 S rortaple
5-10 16 | 29
10-15 | 22 | 51
15-20 | 18 | 69
20-25 | 11 | 80
. Docf 40 - 29
Medlan=/+(2f)xh=10+(22)><5 1
=12.5 1
2
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